Operation research 51412

2end exam

Student name:

Q1: true and false questions:        5 marks

1- the assignment problem  
A-requires that only one job be assigned to machine.                                                             

B-is a special algorithm of the transportation problem.  

C-cannot be used to minimize total time. 

D-none of the above.   
 2- In using the assignment problem algorithm, if     

            You have five employees and six machines 

             You: 

           A-Arbitrarily forget one of those machines.
           B-select a slow machine to omit and then            

Solve the problems using 5x5 matrix.



C-create a dummy employee.  

           D- None of the above. 

3-what information should be placed on a decision tree? 
           A-------------------------------------------------- 

           B-------------------------------------------------- 

           C-------------------------------------------------- 

4- All decision trees are similar in that they contain: 

       A-------------------------------------------------------- 

       B--------------------------------------------------------- 

       C--------------------------------------------------------- 

5- What is the difference between decision making under risk and decision making under uncertainty? 
      ---------------------------------------------------------- 

      ---------------------------------------------------------- 

Q2.Ggiven the following information: 5marks 

                             Favorable market     unfavorable market

Alternative 1             300,000                -200,000 

Alternative 2              250,000               -100,000  

Alternative 3              75,000                 -18,000

A- Develop an opportunity loss table? 

B- What is the minimax decision?  
Q3.given the following information: 
     Alternative 1: initial investment 1000000 dollar. 
                              Revenues depend on demand in the coming 5 years, if it  

                              Good (p., 70) revenues will be 10000 dollar each year, if 

                              It is bad (p, .30) Revenues will be 5000 dollar each year.  
       Alternative 2: initial investment 1500000 dollar. 

                              Revenues depend on demand in the coming 5 years, if it  

                              Is good (p, .70) revenues will be 8000 dollar each year, if 

                              It is bad (p, .30) revenues will be 3000 dollar each year. 
         Notes: 1- revenues due at the end of each year.  

                     2-itreest rate is .08.                                                                     

        What is the best alternative? Use the decision making tree.        5marks   
Q4. Sales of industrial vacuum cleaners at an-najah supply co. over past   
       13 months are as follows:                                                                      

      Sales 

    (1000, s)                month                                                                          

----------------------------------------               

11 January                                                                                                                       

14 February                                                                 
16                               March   

10                               April  

15                               May   

17                               June  

11                               July  

14                              August    

17                               September    

12                               October
14                               November

16                               December 

11                               January                                                                            
(a) using a moving average with three periods , determine the demand  

For vacuum cleaners for the next February? 2 mark
(b) Using a weighted moving average with three periods, determine the  

          Demand for vacuum cleaners for February?   3 mark
